1

1
2)

3)

1) 1 ’ 1
pF( 10,40,60 cm) (10m )
2) 19 3 i)
(25 cm ) (5m ,10cm )
3) , , ,
4) 9
cc 3 2 (
1
pF
« 2)
1
¢ 3
4) 5 cm
50 100 cm 65%
L CL C ( D
5) 0.8 km/h
1 12m 1 ha

6 12 /10a



f . *l

o AT

BN AN

AN DAV 3

Y N

< < MY &

oY 4 4 4

< X < <
DA DN NN NN DANDNNY, NN NN
NENRNRNRMIRNN  IRANNNNRNRNNNNN NRNNNRNRNAY, AN NNNRNNNNN
AN AN A NN AR NN NN ML NN NN,
ARARARARNI NN RNRN AR ARARARNRNANEcANN *
SARARANNNI AN IR AN AN AN NN
ARRARNRNAX AR AR
NRNNNNNNNS INARNANNG NNNN NNNNNNNNR NANNANNAN,
AN 4 N AN AN 25cm>< 10
ARARNRNARIRN X *1 [N NAARNRNAX P ARARNAN cm 10cm
AN NS 4 N AN AN
ARARARNRNINAN, < AR K J
UNNNNANNAD NN NS NN AN AN AN AN 15cm> 10cm 2
ARARARNANI AN AR MEARNRNAN ARARARNAX
AN N AN AN
A A ATyt ys ey s we SN TSSO
AN AN NN AN A AN AN NN
ARRRRRRRNINANARANRNNRRRRRNRNAK ARARRRNRNANRARANNRRRNINAK

pF

0
7115 7/22 7/29 8/5 812 8/19 8/26

/

—=O==10cm —{=40cm =—/—=G0Cm
—e—10cm —=—40cm —4&—60cm

2 pF( ) 3

(5cm )

65% SL S
50 100cm

(_5cm )

(dm )

171000 1/500 1/200

10 14m

200m
100m

40cm

90cm
80cm

30mm 30mm

1
2)

1)



